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QID : 201 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

T uw # Ry o7 fwsut & @ uw Rg
(?) & TUE W A arell A H AT

Options:
1)1

2)2
3)3

4)6
Correct Answer: 2
Candidate Answer: 2

QID : 202 -

How many triangles are there in the given figure?

& o iy # foraar e €2
4
Options:
1) 4
2)5
3)6
4)7

Correct Answer: 6
Candidate Answer: 6
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘F’ can
be represented by 24, 85, etc., and ‘K’ can be represented by 41, 57, etc.
Similarly, you have to identify the set for the word “YATCH”.

U AeG had Uh GEAT-HAE NI gAfar war g, Star @5 fawedr # 4
el T & fear s {1 faweul # R{u v dEar-wep IR b ar g9t
gRT T v §, Sk 6 Ru a1 o eyt # &1 gyl  wawer 3R
Gfeh & @&a1 0 & 4 ¢ 3R MG H 5 | 91 3 gy d T IR
H Ul ZED URh IR TG A TAE HEIT ERT QAT ST @l ol
3GIRRUT & T ‘P ar 24, 85, 3TTG ERT GRNT ST Fham § adm ‘K &1 41,
57, i GRT GRiAT ST &har §1 A ok & U uH A QU g
“YATCH” & foT @efg & ugdiaar 21

Matrix-1 Matrix-Ii
g g
0[1[2[3]4 5[6]7[8]9

0[C|U[G|J[D]| [S[A[V[K[T[H

T[S[F|J[N[U]| [6|[L[R[T[O][N

2[Y[P|V[M[F]| [T[T[Q[W[Y][P

3[1[E[A[C[H| [B8[F[H[R[M][S
4[T[K[D[Q[L| [9]U[G[A[Qa][B

Options:
1) 78, 55, 40, 01, 55

2) 20, 55, 58, 33, 86
3) 78, 32,57, 34, 33

4) 20, 32, 67, 00, 33
Correct Answer: 20, 55, 58, 33, 86
Candidate Answer: 20, 55, 58, 33, 86

QID : 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 3R A F ¥ 3@ TR HglA F AT
orw & uy ampfa Bfea &

?
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ptions:
1)

DS

[ X0

2)

3)

4)

Correct Answer:

<>
Candidate Answer:
<>
QID: 205 -

Which answer figure will complete the pattern in the
question figure?

Hld @ I FPla T HPla & UasT & QT
FN?

O.g
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Options:

1)

2)

3)

4)

o

Correct Answer:

|
O

Candidate Answer:

|
O

QID : 206 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE wF Z9UT Y AB Y@ W I@T AW, ar & s
TR AEaT # ¥ IlF @ ey uw ey &
e ufafesa anfr?

l—»

t «—

W 77777777
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Options:
1)
| —

t -~

4

)T‘_

v
Correct Answer:
~
— T

Candidate Answer:

3

~ 1

QID: 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

dF F ux Ingfaal & G@w I3gER FEer @
Az Ve JUT Whed & ag I FT W e
s e &em?
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Options:
1)

2)

4)

%8
ovo

Correct Answer:

Candidate Answer:

QID : 208 - By interchanging which two digits the equation will be correct?
38x6+19+4 =17
o1 < Sl BT MUY H IRER Fgem TR GHH T8 8 Serm?

38x6+19+4 =17
Options:

1)9and 7

9Tyl 7

2)3and 6

34dUT6

3)4and 6

4dYT 6

4)8and9

8 U9

Correct Answer: 8 and 9
8dYUT9

Candidate Answer: 8 and 9
8dYUT9

QID:209-1f19 @2 # 13 =51 and 14 @ 3 # 9 = 51, then
15@3#6="2?
19 @2#13=51Y14@3 #9 =518,

15@3#6=7?
Options:

1) 55

2) 69

3)51

4) 76

Correct Answer: 51
Candidate Answer: 51
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QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Yellow
2. Yester
3. Yours
4. Yocto
5. Yards

Fafafed Weal 31 UG H o aTd HH & IR g |
1. Yellow

2. Yester

3. Yours

4. Yocto
5. Yards

Options:
1) 52134

2) 51243

3) 52413

4) 51342

Correct Answer: 51243

Candidate Answer: 51243

QID : 211 - In the following question, select the missing number from the given series.
1, 8,9, 64, 25, 216, ?

fafoRad oy & iU U fawedl § 9 g 8i% 1d Sifor|

1, 8,9, 64, 25, 216, ?

Options:
1) 36

2) 343

3)49

4) 64

Correct Answer: 49

Candidate Answer: 343

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
T,R P NL?

TP eHH foar man ], o ¥ Uw ue g 71 AT fawmedt #f ¥ a5 It fawew g, S s H B 1 R

T,R P NL?
Options:
1)G

2)H
3)1

4)]
Correct Answer: ]
Candidate Answer: ]

QID : 213 - In the following question, select the odd word from the given alternatives.

fafafad oy & fiou e fawed & ¥ faww wrsg & gFul
Options:
1) See

2) Run

3) Walk

EEEL

4) Jump

DANT

Correct Answer: See

Candidate Answer: See

QID : 214 - In the following question, select the odd number pair from the given alternatives.
frafatea uy & faw 7 el & 9§ fovm Y g &1 gl
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2) 121 -1331
3)4-16

4)25-125
Correct Answer: 4 — 16
Candidate Answer: 4 — 16

QID : 215 - In the following question, select the odd letters from the given alternatives.

Froforiad uy & faw e fowedt & @ fawy siert o1 gful
Options:

1) PMJ

2) TQM

3) NKH

4) HEB
Correct Answer: TQM
Candidate Answer: TQM

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Male, Doctor, Engineer
T8 3@ A S i i3 U ol & o &b Fdy o1 FE) T B g

Options:
1)
2)

3)

©o

4)

QD

Correct Answer:

1,

Candidate Answer:

€1,

QID : 217 - In the following question, select the related word from the given alternatives.
Cold : Warm : : Dubious : ?

oo uy & Ry e e & & S wsg &1 gl

ST T dfery: 2
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Options:
1) g:ertain

2) Angry
YA

3) Relation
ey

4) Elongated
eS|

Correct Answer: Certain

Candidate Answer: Certain

QID : 218 - In the following question, select the related number from the given alternatives.
2568 :428::4170:?

frafafred uy & few U fawed! & ¥ defa I &1 gl

2568:428::4170:?

Options:
1) 719

2) 671
3) 695

4) 731
Correct Answer: 695
Candidate Answer: 695

QID : 219 - In the following question, select the related letters from the given alternatives.
RJ:OF::BT:?

frafafed vy ® fou T fowedt o 9 Gaifia siert 31 gl

RJ:OF::BT:?

Options:
1) Z2Q

2) YP
3)YQ

4) ZP
Correct Answer: YP
Candidate Answer: YP

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
TRUECALLER
frafafed fawedl & ¥ a8 sg 9T S 3T U Meg & 1&RT T TN I g1 a1 off Havdll|

TRUECALLER

Options:
1) TRUE

2) LURE
3) REAL

4) RAIL
Correct Answer: RAIL
Candidate Answer: RAIL

QID: 221 -Ramis 18t from left and 23" from right in a line of people. How many people are there in the line?

feTal &1 T ufdd & 9 91 § 18-af quT g ¥ 23-at 81 Ufdd & g fvan afaa €2
Options:

1) 40

2)41

3)42

4) 39

Correct Answer: 40

Candidate Answer: 40
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QID : 222 - A'is taller than B. B is shorter than C. D is taller than A but shorter than C. Who is the tallest?

A BITRIRIB, CA BRI D, A D T8 T C I BleT 3| T8 el HIF 82
Options:

1)A

2)B

3)C

4)D
Correct Answer: C
Candidate Answer: C

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. No white is coal.
II. No coal is black.

Conclusions:
I. No white is black.
II. Some white are black.

AT T Uy § $B FU IR S 916 37 FY! IR YR T© M 3T U &, greiifes ITH AR 1 qedt ¥ firear 81 bt o | wui s ug ok iR Fuffa
B o T T o F s, 3T MU Syt & SR W g 2

DPY:
1. DS gibe Biael el B
I1. 15 I DI T8l g
e

I 3T T HIa el 81

IL. $F e F1d &

Options:

1) Only conclusion (I) follows.

Paa ey (1) T8 2

2) Only conclusion (II) follows.

ad ey (1) 981 8 |

3) Both conclusion follow.

gl & ey W g

4) Neither conclusion (I) nor conclusion (II) follows.

T d Frsps (1) 7 & Frsed (1) I B

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
F @ sy (1) 7 & Py (1) TE 2

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

Tt e (1) 7 @ fsed (1) T R

QID : 224 - In a certain code language, "EMU" is written as "DLT". How is "FIN" written in that code language?

T fAfIy S U, "EMU" &I "DLT" /a1 ST 3| 39 I HIW & "FIN" &) fohg YR ferar Siewm?
Options:
1) GIM

2) EHM
3) GHM

4) EIM
Correct Answer: EHM
Candidate Answer: EHM

QID : 225 - In a certain code language, "MAN" is written as "28" and "SUN" is written as "54". How is "BIT" written in that code language?
T AT B U F, "MAN" B "28" T "SUN" &I "54" RIaT ST 81 59 $is T § "BIT" & {5 YR forar Smaeme

Options:

1) 29

2)31

3)34

4) 37
Correct Answer: 31
Candidate Answer: 31

QID : 226 - If the difference of squares of two consecutive odd numbers is 64, then what is their sum?
e &) sramTd fawn Hegrafl il T SR 64 B, T ITHT INT &&T G2
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REva
2) 32
3) 30
4) 17
Correct Answer: 32
Candidate Answer: 32

QID : 227 - Which of the following is greatest?
11/12,3/4,10/11
fofafea 7 @ B9 g9 a1 82

11/12,3/4,10/11
Options:

1) 11/12

2)3/4

3) 10/11

4) All are equal
Tt R &

Correct Answer: 11/12
Candidate Answer: 11/12

QID : 228 - If y is an integer, then (y3 —y) is always multiple of .

Al y T quites ©, f (y> —y) ed ____ &1 U GHTT?
Options:
1)5

2)7
3)9

4)6
Correct Answer: 6
Candidate Answer: 6

QID : 229 - Which of the following number is divisible by 6?

fafafad 7 @ oF @ 9o 6 § fursa 22

Options:
1) 23562

2) 43742
3) 53422

4) 44444
Correct Answer: 23562
Candidate Answer: 23562

QID : 230 -

(0.7)° —(0.4)° y

What is the value of (0.7 +(0.47 + (0.7)x(0.4)]

(0.7) =(0.4)°
[(0.7)7 =(0.47 + (0.7) x (0.4)]

Options:

1) 0.5

2)0.2

3)0.3

4)0.1

Correct Answer: 0.3
Candidate Answer: 0.3

FT AT FIT &2

QID : 231 - The product of two numbers is 630. If one of the number is 18, then what is the another number?

3 TRl FT UAH A 630 §1 IS T TR 18 8, Y gt TReAT o1 82
Options:

1) 34

2) 36

3)35

4) 38

Correct Answer: 35

Candidate Answer: 35
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QID : 232 - A and B together can do a piece of work in 10 days and A alone can do it in 30 days. B alone can do the work in how many days?

AT B e uh & &1 10 A B qR1 9 Tehd § U1 A Sl 39 30 AT A IR Thal 1 B b I B B fobe 13T H T IR Tl 82
Options:

1)15

2) 12

3)18

4) 24

Correct Answer: 15

Candidate Answer: 15

QID : 233 - Three taps A, B and C can fill a tank in 20, 24 and 30 hours respectively. How long (in hours) would the three taps take to fill the tank if all of them are
opened together?

@19 9 A, B a1 C ot <ot ) R 20, 24 TUT 30 S H R Tbd 7| Afe AT T T Iy W feu S €, df a8 I <ot Y aRA H fora gug (ger ®) § e
Options:

1)8

2)12

3)9

4)6

Correct Answer: 8

Candidate Answer: 8

QID : 234 - The length and breadth of a rectangular field are in the ratio of 5 : 4. If the perimeter of the field is 90 m, then what is its breadth (in metres)?

TF TSR &F B ATS quT AISTS BT U 5 : 4 71 TG & &1 IR 90 Hier B, @ 3w diers (Hiex H) T 32
Options:

1) 12

2) 15

3) 20

4) 30
Correct Answer: 20
Candidate Answer: 20

QID : 235 - A trader allows two successive discounts of 10% and 10% on selling an article. If he sells that article for Rs 405, then what is the marked price (in Rs)
of the article?

TS Ao ol a%g 1 Sad T & IS G 10% TUT 10% 3T 31 IfS I8 S a%g BT 405 T & Il B, Y a¥g B $ifebd Tewl (3 H) AT 82
Options:

1) 500

2) 560

3) 640

4) 700

Correct Answer: 500
Candidate Answer: 500

QID : 236 - What is the net discount (in %) for successive discounts of 30% and 50%?

30% T 50% BT & HURTT Fel B Fad (A) e (% o) 172
Options:

1) 65

2) 70

3)75

4) 80

Correct Answer: 65

Candidate Answer: 65

QID:237-IfP:Q=3:4andQ:R=2:5, then whatis (P + Q) : (Q + R)?
gEP:Q=3:4TUQ:R=2:58 AP +Q):(Q+R) F?

Options:

1)1:2

2)1:3

3)2:3

4)2:5
Correct Answer: 1 : 2
Candidate Answer: 1 : 2

QID : 238 - If (3/2)P = (4/5)Q = (2/3)R, then whatis P : Q : R?

IR (3/2)P = (4/5)Q = (/3R A, AP : Q: RFATE?
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Options:
1)8:15:18

2)3:4:2
3)2:4:3

4)8:15:6
Correct Answer: 8 : 15: 18
Candidate Answer: 8 : 15 : 18

QID : 239 - The average of 104, 102, 109, A and 112 is 109. What is the value of A?

104, 102, 109, A TUT 112 T 39T 109 §1 A BT T o7 &7
Options:

1) 114

2) 116

3)118

4) 120
Correct Answer: 118
Candidate Answer: 118

QID : 240 - If chairs are bought at Rs 600 each and sold at Rs 500 each, then what will be the loss percentage?

e PRI B 600 T Ul B BT <R T WIGH 500 T Ui Sl B a2 & o9 feqr wiren €, 4 g1 wicrard Fan grme
Options:
1) 12.53

2) 16.66
3) 18.52

4) 21.62
Correct Answer: 16.66
Candidate Answer: 16.66

QID : 241 - An article is sold at 20% profit instead of 5% loss, the man gains Rs 120 more. What is the cost price (in Rs) of that article?

T T BT 20% BT & FGo 5% ATH TR ST W TH K BT 120 T MfYF U B 81 I &1 63 T4 (3 H) T 82
Options:
1) 480

2) 720
3) 1020

4) 1080
Correct Answer: 480
Candidate Answer: 480

QID : 242 - If the price of a commodity is decreased by 20% and its consumption is increased by 10%, then what will be the percentage increase or decrease in the
expenditure of the commodity?

e T IRG B P 20% HH gl STl § TUT ID! WU 10% ¢ STt 3, d 9g R T B foba ufarrd &1 9f a1 st grire
Options:

1) 10% decrease

10% &1 HHt

2) 10% increase

10% &1 3G

3) 12% increase

12% 1 gfs

4) 12% decrease

12% Pt B!

Correct Answer: 12% decrease
12% &1 FHHt

Candidate Answer: 12% decrease
12% Bt Bt

QID : 243 - What is the value of 20% of 30% of 1200?

1200 & 30% b 20% T A T &?
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Options:
1) 36

2)72
3) 108

4) 144
Correct Answer: 72
Candidate Answer: 72

QID : 244 - Speed of a boat along the current and against the current are 10 km/hr and 8 km/hr respectively. What is the speed of boat (in km/hr) in still water?

T 19 B Y YRT & SHd quT YRT & Tfager AR 10 5.4t /eier aur 8 fos. @ /der 31 =iia fa & =g &t 7fay (. 1. /eier &) 7 &2
Options:

1)2

2)9

3)4.5

4)6
Correct Answer: 9
Candidate Answer: 9

QID : 245 - A train travels some distance at a speed of 15 km/hr and returns at a speed of 9 km/hr. If the total time taken by the train is 8 hours, then what is the
distance (in km)?

?w%ﬂ;é’r 15 .. /5e1 3 7 @ 5o g8 9g IRl § qur 9 .t /e 3t ife I aro ot ¥1 afg YA B 38 99 R B o 8 W BT WA I §, o gt (A
) & §7

Options:

1) 45

2) 36

3)42

4) 60

Correct Answer: 45

Candidate Answer: 45

QID : 246 - An amount invested at simple interest gives Rs 2400 interest at rate of 12% in 5 years. What is the principal (in Rs)?

T R WILROT 7T TR 32 Bt el 8 Sifds 5 adf & 129% BT &% | 2400 T 61 & <t &1 oo (3 H) o1 82
Options:
1) 3000

2) 4000
3) 5000

4) 6000
Correct Answer: 4000
Candidate Answer: 4000
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QID: 247 -
The line chart given below shows the wheat imported
(in tonnes) by the flour manufacturing company A from
years 2009 to 2015.

= fm o @ = # a¥ 2009 & 2015 dF TH
HIET 3cUGeH HUT A ERT I & AT (Tt #) @

ZIIT T B
300 - 260
W _ 250 4
Q
E%® 500 -
SE
£ 1501
= [ 100 1
2 50 -
g 0 T T T T T T 1
8 (] -~ N [sp] <t wn
S o © o o o o
N N N N N N N
Year /9§

What is the percentage change in import of wheat from year 2010 to 2014?

9 2010 ¥ IY 2014 % g & S B fora vl ufkad gen 82
Options:
1) 75

2) 175
3) 16.67

4) 25
Correct Answer: 16.67
Candidate Answer: 16.67
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QID : 248 -
The line chart given below shows the wheat imported
(in tonnes) by the flour manufacturing company A from
years 2009 to 2015.

= fm o W@ = # a¥ 2009 & 2015 d& TH
HIET 3cUGeH HUAT A ERT I & AT (Tt H) @

g 3T
300 - 260
W _ 250 4
o ™~
E%® 500 -
SE
s 2 150 1
= 100 -
2 50 -
g 0 T T T T T T 1
8 o -~ N (9] <t wn
S o © o o o o
N N N N N N N
Year /9§

What is the average wheat import (in tonnes) from year 2009 to 2013?

a9 2009 ¥ Y 2013 T N HT T AT (S H) 7 82
Options:
1) 170

2) 168
3) 180

4) 165
Correct Answer: 168
Candidate Answer: 168
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QID : 249 -
The line chart given below shows the wheat imported
(in tonnes) by the flour manufacturing company A from
years 2009 to 2015.

= fm o @ = # a¥ 2009 & 2015 dF TH
HIET 3cUGeH HUAT A ERT I & AT (Zat H) @

g 3T
300 - 260
W _ 250 4
o ™~
E%® .00 -
SE
s 2 150 1
= 100 -
2 50 -
g 0 T T T T T T 1
8 (] -~ N [sp] <t wmn
S o © o o o o
N N N N N N N
Year /9§

In how many years, the import was more than the import in 2012?

fopa auf #, amard a9 2012 F 3maTd § 31w Ut
Options:
1)2

2)3
3)4

4)5
Correct Answer: 4
Candidate Answer: 4
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QID : 250 -
The line chart given below shows the wheat imported

(in tonnes) by the flour manufacturing company A from
years 2009 to 2015.

= e ow far R # 9% 2009 ¥ 2015 IF UF
AT 3cUGed Ul A ERT 3§ & AT (Zat #) @t

g 3T
300 - 260
W _ 250 4
o~
E%® .00 -
£h
s 2 150 1
= 100 -
2 50 -
g o T T T T T T 1
8 (] -~ N [sp] <t wmn
S o © o o o o
N N N N N N N
Year /9§

What is the percentage change in the wheat imported from year 2009 to 2013?

a9 2009 ¥ Y 2013 T ST g | faen ufo=ra uRad= gan g2
Options:
1) 225

2) 150
3) 100

4) 125
Correct Answer: 125
Candidate Answer: 125

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Even if we missed a day's work, (1)/ our salaries are not cut and we (2)/ were paid in full. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

A ethos of equality was one (1)/ of the major reasons for their (2)/ belief in ‘satguru’. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He killed three for dinner.
Options:

1) forl

2) fowls

3) fool

4) flour
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Correct Answer: fowls
Candidate Answer: fowls

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Mr. Jain has been in this college 2000.
Options:

1) for

2) since

3) of

4) off

Correct Answer: since

Candidate Answer: since

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Cavalier
Options:

1) Nobleman
2) Gentleman
3) Rude boy
4) Patrician

Correct Answer: Gentleman
Candidate Answer: Nobleman

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Sneer
Options:

1) Mock

2) Compliment
3) Praise

4) Applaud

Correct Answer: Mock
Candidate Answer: Mock

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Solemn

Options:

1) Funny

2) Pensive

3) Laughing

4) Light

Correct Answer: Pensive
Candidate Answer: Pensive

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Repulsive
Options:
1) Creepy
2) Hateful

3) Ugly
4) Pleasing

Correct Answer: Pleasing
Candidate Answer: Pleasing

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Taciturn

Options:

1) Silent

2) Talkative

3) Reticent

4) Reserved

Correct Answer: Talkative

Candidate Answer: Talkative

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Cease
Options:

1) Pause

2) Desist

3) Terminate
4) Continue

Correct Answer: Continue
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Candidate Answer: Continue

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Do or die

Options:

1) To deceive someone
2) To make a final effort
3) To criticize one

4) To interrupt one

Correct Answer: To make a final effort
Candidate Answer: To make a final effort

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On account of

Options:

1) Instead of

2) Despite

3) Because of

4) Rejecting something

Correct Answer: Because of
Candidate Answer: Because of

QID : 263 - Improve the bracketed part of the sentence.

Sindhu's latest medal, to go with the Rio Olympics silver last year, has clearly (took her past) Nehwal.
Options:

1) taking her past

2) takes her past

3) taken her past

4) No improvement

Correct Answer: taken her past
Candidate Answer: taken her past

QID : 264 - Improve the bracketed part of the sentence.

And makes it a point to remind (eachone) that her recovery is still incomplete, and that she would be back at her best in upcoming competitions.
Options:

1) everyone

2) each people

3) every people

4) No improvement

Correct Answer: everyone
Candidate Answer: everyone

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Something that serves as a reminder.
Options:

1) Moderato

2) Obligato

3) Momento

4) Crypto

Correct Answer: Momento

Candidate Answer: Momento

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A building which is constructed to keep alive one's memory.
Options:

1) Monument

2) Fort

3) Kingdom

4) Statue

Correct Answer: Monument

Candidate Answer: Monument

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Micsellaneous

2) Miscelaneous
3) Miscellanious

4) Miscellaneous
Correct Answer: Miscellaneous
Candidate Answer: Miscellaneous
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QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Maintane

2) Maintain

3) Muntain

4) Maintein

Correct Answer: Maintain

Candidate Answer: Maintain

QID : 269 - Rearrange the parts of the sentence in correct order.

Time management

P: one's time efficiently so as

Q: to be more productive and organized
R: is the ability to utilize

Options:
1) RPQ
2) PQR
3) QPR

4) PRQ
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 270 - Rearrange the parts of the sentence in correct order.

Disaster management is a

P: well-planned strategy for

Q: hazards caused by the disaster
R: making efforts to reduce the

Options:
1) PQR

2) RQP
3) PRQ

4) QRP
Correct Answer: PRQ
Candidate Answer: PRQ

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Child labour is commonly seen at various places in India. From roadside tea stalls to big and small factories producing products like cement, handloom and
jute products, carpets, fashionable tawdry ornaments and fireworks and many other hazardous jobs. Children are working in condition. There have been
cases where child labours were severely beaten and offered no medical help, in case they complained or try to . There are practical difficulties in the way of
abolishing child labor overnight. Without poverty child labor cannot be abolished. There must be a special to check the evil.

factories producing products

Options:

1) waste

2) sundry

3) bring

4) producing
Correct Answer: sundry
Candidate Answer: sundry

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Child labour is commonly seen at various places in India. From roadside tea stalls to big and small factories producing products like cement, handloom and
jute products, carpets, fashionable tawdry ornaments and fireworks and many other hazardous jobs. Children are working in condition. There have been
cases where child labours were severely beaten and offered no medical help, in case they complained or try to . There are practical difficulties in the way of
abolishing child labor overnight. Without poverty child labor cannot be abolished. There must be a special to check the evil.

are working in condition.

Options:

1) neat and clean

2) abysmal

3) hopeful

4) good

Correct Answer: abysmal
Candidate Answer: abysmal

Download More Paper@'From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In
QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Child labour is commonly seen at various places in India. From roadside tea stalls to big and small factories producing products like cement, handloom and
jute products, carpets, fashionable tawdry ornaments and fireworks and many other hazardous jobs. Children are working in condition. There have been
cases where child labours were severely beaten and offered no medical help, in case they complained or try to . There are practical difficulties in the way of
abolishing child labor overnight. Without poverty child labor cannot be abolished. There must be a special to check the evil.

complain or try to
Options:

1) relate

2) negotiate

3) escape

4) innate

Correct Answer: escape
Candidate Answer: escape

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Child labour is commonly seen at various places in India. From roadside tea stalls to big and small factories producing products like cement, handloom and
jute products, carpets, fashionable tawdry ornaments and fireworks and many other hazardous jobs. Children are working in condition. There have been
cases where child labours were severely beaten and offered no medical help, in case they complained or try to . There are practical difficulties in the way of
abolishing child labor overnight. Without poverty child labor cannot be abolished. There must be a special to check the evil.

Without poverty child labor

Options:

1) initiating

2) decreasing
3) referring

4) eradicating
Correct Answer: eradicating
Candidate Answer: eradicating

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Child labour is commonly seen at various places in India. From roadside tea stalls to big and small factories producing products like cement, handloom and
jute products, carpets, fashionable tawdry ornaments and fireworks and many other hazardous jobs. Children are working in condition. There have been
cases where child labours were severely beaten and offered no medical help, in case they complained or try to . There are practical difficulties in the way of
abolishing child labor overnight. Without poverty child labor cannot be abolished. There must be a special to check the evil.

must be a special to check the evil.

Options:

1) war

2) divine

3) force

4) source

Correct Answer: war
Candidate Answer: force

QID : 276 - In an economy there could be sector/sectors, which are dominant in terms of total production & employment.

P foraen § &7 8 Gd &, Sl P I<UTE qUT JASHIR & A | o B
Options:

1) only one

&Id THh

2) only two

Fad

3) one or more
& a1 3D
4) None of these
KEIEEG]
Correct Answer: one or more
T 1 3w
Candidate Answer: one or more
T a7 3D

QID : 277 - Banks keep a small proportion of their deposits in cash with themselves as provision to pay the who might come to withdraw money.

S ST ST AR BT TP BleT fowdT Wa F Y Ahd! H, 4= a9 I & o S ared BT YA B S WGy & &Y H 3@ 8
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Options:

1) Borrowers
JURSdrai

2) Lenders
Burerarait

3) Other banks
3 §F

4) Depositors
STt

Correct Answer: Depositors

Candidate Answer: Depositors

QID : 278 - Which section of Indian Constitution has often been referred to as its 'conscience'?

YR TfIUM & g W # o IR R IS Sfavrar oft Fgad 82
Options:
1) Fundamental Duties

2) Fundamental Rights

3) Directive Principles of State Policy
I F +Hfa Fxe a@

4) None of these

EEEET R

Correct Answer: Fundamental Rights

Candidate Answer: Directive Principles of State Policy
I F A Fdxe d@

IR IRT Y Ve B, Fifh 98 81 ITB! el B! 31 B BT 3G T Bl
Options:
1) DeAmocracy

QID : 279 - is better than other forms of government because it allows us to correct its own mistakes.

2) Monarchy
RELIEET
3) Aristocracy

4) Al_Jtocracy
Corrgct Answer: Democracy

Candidate Answer: Democracy

QID : 280 - Which city was the capital of British India upto 1911?

1911 I fafewr YRa &) Ioryr 1T I &R U2
Options:

1) Calcutta

Hadmdl

2) Delhi

3) Lucknow
qG1S
4) Patliputra

Correct Answer: Calcutta
DDl

Candidate Answer: Calcutta
DTl

QID : 281 - What were the two major cities under control of the Chahamanas?

D A S UE e IGAM & 0 H
Options:

1) Delhi and Ajmer

faeett Tt aremR

2) Lahore and Amritsar

TTER TUT SRR

3) Alwar and Ujjain

AR TUT I

4) Panipat and Kurukshetra
grHIud quT Heas

Correct Answer: Delhi and Ajmer

faweht qur semR
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Candidate Answer: Alwar and Ujjain
AR YT IS

QID : 282 - What is the angle made by the axis of the Earth with its orbital plane?

Tt T 38l 3T HENT Telg J T PV ST 32
Options:

1) 11°

2) 33°

3) 66°

4) 15°

Correct Answer: 66°

Candidate Answer: 66°

QID : 283 - What is the thickness of the crust (in km) on the ocean floors?

Tz qag H gt Bt wers (7., 7) fea 82
Options:

1) 5-10

2) 15-20

3) 25-30

4) 35-40

Correct Answer: 5-10

Candidate Answer: 15-20

QID : 284 - In Goitre, there is swelling of the .

Jar A TS ol B
Options:

1) Eyes

g

2) Jaw's

SES

3) Stomach

SHRY

4) Thyroid gland

YRRTSS Uy

Correct Answer: Thyroid gland
YRRISS U

Candidate Answer: Thyroid gland
YRRTS Uy

QID : 285 - For immediate energy production in cells one should take

FIRBTN T T Hoif JadTe & forg S TR
Options:
1) Glucose

2) Vitamin K
fqarfi= K

3) Vitamin C
et

4) Roughage

IRT

Correct Answer: Glucose

Candidate Answer: Glucose

QID : 286 - An erythrocyte lives for approximately .
TP TR T Shfdd gar Bl

Options:

1) One week

T qidle

2) Twelve months

§RE HEH

3) Four months

= .

4) Four years

IR Y

Correct Answer: Four months
IR HEIH

Candidate Answer: Four months
IR HEH
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QID : 287 - An iron ball and a wooden ball of the same radius are released from a height H in vacuum. The times taken by both of them to reach the ground are

TH TR B 7ig IUT IHH BT B s abe! 31 i &1 fafd ¥ Far H ¥ BieT 11 81 Yl R ugeH & e 39 <At gr1 o e wwg H|
Options:

1) different

S-S QT

2) unequal

SH

3) exactly equal

[IE2ERICR

4) Exactly not equal

Bl TR T

Correct Answer: exactly equal
CACHEN

Candidate Answer: exactly equal
3P W

QID : 288 - Combination of two or more cells such that the positive terminal of one cell is connected to the negative terminal of the next cell are called

A A 4P Jal & T FaIoH FoRH U I $T o7 <fHiTd g 9a & B efifaa S Wi fsar o g, FHEA g
Options:

1) Multicell

aeed

2) Wire
TN aR
3) Battery
I8

4) Fuse
G

Correct Answer: Battery

Candidate Answer: Battery

QID : 289 - In computer coding, power of 2 are used in

PR BIST H, 2 B O BT WA yomett H forar s 71
Options:
1) Binary

system.

2) Decimal
CRERE]

3) Octadecimal
STl GRATd
4) Hexadecimal
TR GRIEd

Correct Answer: Binary

Candidate Answer: Binary

QID : 290 - The law of multiple proportion was discovered by

Tl 3% Hec i T ®f @iel GRI &Y 18 oY
Options:

1) John Dalton

S STeed

2) Robert Brown

RECEIRE]

3) Joseph Proust

SRI% UIew

4) Way Kanada
3 FST

Correct Answer: John Dalton
I Slec
Candidate Answer: Joseph Proust

QID : 291 - Amongst the following elements which has the largest atomic size?

fofafad dal o Tad 981 IR PR fHawT 82
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Options:
1) Magnesium

2) Phosphorus

BRBRY

3) Lithium

ferram

4) Sodium

ifeaw

Correct Answer: Magnesium

Candidate Answer: Sodium

QID : 292 - What can be taken as average value for the amount of organic matter that is present at each step and reaches the next level of consumers?

AP HeH W ANG aul ITHIFISH & 3T TR 9% Ugan aTd B uerd &t A & e oid geg & w0 & o1 foran o 9ot 82
Options:

1) 1%

2) 10%

3) 50%

4) 100%

Correct Answer: 10%

Candidate Answer: 10%

QID : 293 - Which of the following scheme is aimed to track the entire education journey of students?

iR & 3 o < 2o o1 Jea feffr & R Rieras o o g s g2
Options:

1) Padhe Bharat Badhe Bharat

¢ YR S¢ HRd

2) Saransh

R

3) Shala Asmita Yojana

Tl SR AT

4) Saksham

H&H

Correct Answer: Shala Asmita Yojana
Tl SR AT

Candidate Answer: Shala Asmita Yojana
Tl

QID : 294 - What was discovered by Thomas Edison?

YT TS gRT forget snfaseR farar T ure
Options:
1) Electric motor

2) Electricity

3) Electric fan

fargaet v

4) Electric Bulb

fergad ses

Correct Answer: Electric Bulb
forgae sres

Candidate Answer: Electric Bulb
forgad sres

QID : 295 - Which sport is correctly paired with its other name?

B 1 W TS &7 Y 3T 3 T & WY T T 32
Options:

1) Cricket-Baseball

fhde-sqara

2) Golf-Polo
Tiew-arelt

3) Tennis-Squash
-

4) FootbaJI-Soccer

P cdTd-HihR

Correct enswer: Football-Soccer
Pdrd-Hidh

Candidate Answer: Football-Soccer

Beaa-HihR
QID : 296 - Warli paintings derive its name from a small tribe of

IR REsr) P TP BIE ST BT AH B
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Options:
1) Maharashtra

HERTY

2) West Bengal
iy S

3) Chhattisgarh
TG

4) Jh_arkhand
ARYS
Correct Answer: Maharashtra

HERTY

Candidate Answer: Maharashtra

HERTY

QID : 297 - Which state is NOT among the three states to be selected for Krishi Karman Award for their record performance in the production of food grains during
2015-16?

2015-16 % ERM 3 & Ialed § I Rpre UexH & o FY & [REBR & fore $19-91 I g7 T i 3ot § § 78 72
Options:
1)pTIaonr1‘iTNadu

2) Himachal Pradesh
3) Maharashtra
4) Tripura

Correct Answer: Maharashtra

HERTY

Candidate Answer: Himachal Pradesh

REIESRCER]

QID : 298 - Who is the author of book named "A Suitable Boy"?

T Gead S A fohdid & TGP B 82
Options:

1) Vikram Seth

fawa ds

2) Laxmi Sehgal
RG]

3) V.S Naipaul
GRS ARSI I
4) Kapil Dev
FUA <a

Correct Answer: Vikram Seth

fawu 5

Candidate Answer: V.S Naipaul
d.u9. Ara

QID : 299 - Which among the following is the first military exercise between Russia and Pakistan?

fFafifed & ¥ o9 =9 a1 Ufes™ & 19 Ugel I 31 772
Options:
1) Druzhba

goldl

2) Khanjar
ToR

3) Tropex
iG]

fl) Al-Nagah
S NESIRIE
Correct Answer: Druzhba

ESEN

Candidate Answer: Khanjar
RCS LY

QID : 300 - India has removed its which neighbouring country from prior referral category (PRC) for issuing of research visas?

UYRA J 30 g USI 3= B gd Yohrat Aoit (el ¥ i dien St A & fo ger fean 82
Options:

1) Bhutan

Y-

2) China

GG

3) Bangladesh

e

4) Sri-Lanka

oficiept

Correct Answer: China
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Candidate Answer: China
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